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a) L= (1/2) m[;2 + {ﬁ;}I 1 + MG/ (AL)
B} © = -HG/r® + mp? (A2)
r; + Eéﬁ = {0 (A3)
&) w - Mo/R : (AG)
d) s = Rulp + 2R (AS)
:l; + z{um:'ﬁ = (AB)

e¢) Integrating (A6) and using initial conditions gives
v+ 2(a/Rlp =m0 . (AT

Putting this in (A5} gives

- 2
p o= up .

Taking into account the initial condition, the molution for p ia

W
p--E;ginut. f-ﬂﬂ-]

Correspondingly, ¥ can be found by putting (A8) im (A7) and integrating.
The rTesult is

FA
¥ o= CWR {1l = cos w £). {AD)

Hote that when £ = T = 27 /w (one period later), thenp(T) = §(T) = 0. Also

$(T) = —2(u/R) o (T} = O.



